=, EaMzFAERX

l.x—y+z=3 9. 3x—y+z=5
2x+y+z=28 x+3y+3z=-6
3x+y—z=1 x+4y—2z=12
2. x—y—z=2 10.2x —y+3z=2
2x+y+7Z=8 x—2y+3z=1
xX+y+z=6 4x —y+5z=05
3.x+y+z=1 IlMx+2y+z=2
2x—y+2z=-1 2x+3y+3z=-3
—x—3y+z=1 2x+3y+2z=2
4. x—y—z=6 12.x—4y —z=-3
—x+3y+2z=-11 x+2y+z=5
3x+2y+z=1 3x—7y—2z=-6
S5. x+y+z=1 13.x+3y—2z=8
—2x+2y+3z=20 3x+2y—3z=15
2x —2y—z=-16 4x +2y+3z=-1
6. x+y+z=-3 l4dx+y—z=2
3x+y—z=13 3x+5y—2z=-5
3x+y—2z=18 Sx+4y—7z=-7
1. 2x+y—z=2 ISx+y—2z=2
—-x—3y+z=-1 x—2z=1
—4x+3y+z=—-4 2x—3y—2z=28
8. x+4y—6z=238 l6x+y+z=6
2x—y+3z=-10 x—2y=-—7
3x—2y+3z=-18 4x +3y+z=7
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T, Sz FAERX

17x—-3y+2z=1
16y —9z =5
4x+4y—z=18

18x—4y+4z=-1
y—3z=5
3x—4y+6z=1

19x + 2y —4z =13
3x+4y—2z=19
3x+2z=3

20x+2y—2z=6
—3x—2y+5z=-12
x—2z=3

B————t—=2
2 3 1

x+1_y+2_z—1=

1+1 4
x+1 y+2 z-1
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1. x24+y2=6

x*+y*—6x+8=0

. 2x +y =x—3y+15=16

Kx?+xy —y? 614

. Xyty=4
x+y=4
L x2+y?t=2

x2—y2+3x+3y=0

. x+3y=28
X+y=9—3a
Kaih

3Lty
xX—2 y+1
x—y=1

4> =0
3x 4y

4 3_6
x 2y

. x+y =12
y+z=28
z+x =10



